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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |
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Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE
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Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT
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Question Label : Multiple Choice Question

Which of the mllﬂmnE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5

Options :
Impact factor

L& PENE] ‘IUT
h-index

mdm
-2

UQ

=)

il 0-index

4w 110-ZSFH

Question Number : 6 Question Id : 59345210953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST
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Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st

Question Number : 12 Question Id : 59345210959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth
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Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,
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Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR
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Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O
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Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST
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Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP

Question Number : 35 Question Id : 59345210982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e

Question Number : 36 Question Id : 59345210983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.

Question Number : 37 Question Id : 59345210984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

THAT ADSI & FAUET o AN UEA ® AJANG god & 9= @ HAWL
Options :

ap

Error

Contradiction
R IR
3. %
Difference

4%



Question Number : 38 Question Id : 59345210985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’

Question Number : 39 Question Id : 59345210986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL
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Section Id : 593452184
Section Number : 2

Section type : Online
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Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 180
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 593452212
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59345210988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"Shubhovapyashubhobhaavah" is said in context of which Parikshyavishaya ?
Options :

Anubandha
1.¢

Desha
2. =

Kaala

Pravritti
4. %



Question Number : 42 Question Id : 59345210989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is "Bastipooranavikledakrinmootram” ?
Options :
., Mutra Vriddhi Lakshana

~ Vatabasti
2.
Mutra Prakrita Karma
Mutra Kshaya Lakshana
4. %

Question Number : 43 Question Id : 59345210990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an electrocardiogram 'p-wave' indicates ?
Options :

Depolarization of right ventricle
1. %



Depolarization of both atria
2.¢

Depolarisation of left ventricle
3. %

© Atria to ventricular conduction time

Question Number : 44 Question Id : 59345210991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pratatamvatarogeeni .... This is a symptomp of which deficiency according to Charak ?
Options :

Rasa Kshaya

Asthi Kshaya
2. %

Majja Kshaya
3.¢

Shleshma Kshaya

Question Number : 45 Question Id : 59345210992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
The objective of pariksha is :
Options :

., Paryavadatashrutata
Pratipattigyana
Upakaranavatta

Jitahastata
4, %

Question Number : 46 Question Id : 59345210993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Charak" Kshamadhritimalaulyam" is a symptom of :
Options :

Mamsasaar
1.¥

Medasaar
2. %

Mayjjas
- ajjasaar

~ Satvasaar
e



Question Number : 47 Question Id : 59345210994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Shatakriyakala is mentioned in which text ?
Options :

Charak Sambhita
1. %

Mahhav Nidana
2. %

Sushruta Samhita
3.9

Ashtanga Hridaya

Question Number : 48 Question Id : 59345210995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Kerning's sign become positive in condition of :
Options :

 Tetanus
1. ®



. Cervical Spondylosis

Facial paralysis

Meningitis
4. &

Question Number : 49 Question Id : 59345210996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Bahudrava Shleshma related to which disease ?
Options :

Prameha
1. v

Rajayakshama

~ Unmad
3. %

Kushtha

Question Number : 50 Question Id : 59345210997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
"Tatrapipilika-bhara-haranavatsiddhih" has been quoted in which type of pariksha ?

Options :

% Sanhananapariksha

) Satvapariksha

Sara pariksha
3. ¢

Balapariksha

Question Number : 51 Question Id : 59345210998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"Atisrishtamvibandhamvadravam” are the symptoms found in :

Options :
Prameha

Grahani
2. ¢

Atisara
3. %

. Pravahika



Question Number : 52 Question Id : 59345210999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Lingam "avayaktamalpatad vyadhinam tadyathayatham" is :

Options :
Nidan

1. =

Rupa
2. %

Poorvarupa
3.¢

Samprapti
4. %

Question Number : 53 Question Id : 59345211000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is the synonym of Rupa ?
Options :

Vyanjana
1.



~ Pratyaya
2. % il

Ayatana
3. %

Utthana
F

Question Number : 54 Question Id : 59345211001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rajayakshma is a disease of which roga-marga ?
Options :

., Bhayarogamarga
Abhyantararogamarga

Madhyamarogamarga
3.¢

Bhayarogamarga & Abhyantararogamarga

Question Number : 55 Question Id : 59345211002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
"Udgarashchayathabhuktam” is feature of :
Options :

Amajirna
1.

5 % Vidagdhajirna

Visthabhdhajirna
3. %

~ Jirna
4. %

Question Number : 56 Question Id : 59345211003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"Dosha-prakriti-vaikrutya” is the feature of :

Options :

Samajwara
Doshapaka
2. ¢

Dhatupaka
3. %

Sannipatajwara



Question Number : 57 Question Id : 59345211004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

FNAC is Contraindicated in acute pancreatitis because :
Options :

. [t will change in cancer

« Lead to bacterial endocarditis

Aggravates the inflammatory process
3.¢

L % High grade fever will develop

Question Number : 58 Question Id : 59345211005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following occurs due to 'pipasa-vega-nigraha ?
Options :

Jrimbha
1. ®



Badhirya
2.¥

Pratisyava
% yd)

Andhya
#

Question Number : 59 Question Id : 59345211006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pregnant Uterus is an example of :
Options :
. Hypertrophy

H lasi
., Hyperplasia

3@ Both Hyperplasia & Hypertrophy

Dysplasia

Question Number : 60 Question Id : 59345211007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
"SarvapocharaSaha" is related with :
Options :

Vishama Agni

1. %

Tikshna Agni
2.¥

Sama Agni
3. %

Manda Agni

Question Number : 61 Question Id : 59345211008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Saddle shaped Nose deformity is observed in :
Options :
Filariasis

|
Syphilis
o Syphili

Gonorrhoea

AIDS
®



Question Number : 62 Question Id : 59345211009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Intake of Fish & Milk is :
Options :

Viryaviruddha
1. v :

Sanskaraviruddha
2. %

Kalaviruddha

3. =

Deshviruddha

Question Number : 63 Question Id : 59345211010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Klaibya is caused by :
Options :

Apatarpana
| % p p



Sthamabhana

Santarpana
3.¢

Rukshana
4. %

Question Number : 64 Question Id : 59345211011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pratishyaya is purvarupa of :
Options :
Kasa

1. =

Rajayakshma

Shwasa
3. %

Chhardi
4. %

Question Number : 65 Question Id : 59345211012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Samara Vikranta Yoddha is feature of :
Options :

Shukrasara

1. %

Satvasara
2.9

Mamsasara
3. %

4% Twakasara

Question Number : 66 Question Id : 59345211013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"Urnanshu-sankasha" is the character of which krimi-
Options :

Rakatajakrimi

) % Kaphajakrimi

Purishajakrimi
3.¢

. Rakatajakrimi & Kaphajakrimi



Question Number : 67 Question Id : 59345211014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"Sandhi visleshogatraanam sadanam doshachayavanam kriyasannirodhashcha" are the
characteristic features of :

Options :

Ojokshaya
1. %

Ojovyapada
© jovyap

Ojovisransa
3. ¢

Ojomeha
4. %

Question Number : 68 Question Id : 59345211015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Usage of dashamulakvatha in case of vatajashotha, which subsides vata as well as sotha
is an example of :
Options :
Hetu-Vyadhi Viparita Vihara



) Hetu-Vyadhi Viparita Aushadha
Hetu-V yadhi Viparita Anna

. Hetu-Viparita Aushadha

Question Number : 69 Question Id : 59345211016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Acharya Charak "shlakshangandatavam" is the specific lakshana of this
disease :
Options :

Galaganda

~ Gandmala
2. %
Udavarta

Udara
4.

Question Number : 70 Question Id : 59345211017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'Chashpakshanibhammutram” ..... is the symptoms of.
Options :

Kalameha
1. %

u Majjameha

Neelameha
3. %

Madhumeha
4, %

Question Number : 71 Question Id : 59345211018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The cell wall deficient bacteria are :
Options :
Cocci

1. %

Bacilli
2. %

Mycoplasma
3. ¢



Vibrios
F

Question Number : 72 Question Id : 59345211019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Vagbhata, the fecal smell in mouth, belching and breath is due to :

Options :

Only Kaphaja krimi
1. %

Only Purishaja krimi
2. ¢

Kaphaja and Purishaja krimi
3. %

Purishaja and Bahya krimi
4, %

Question Number : 73 Question Id : 59345211020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The media used to differentiate lactose fermenting from non-lactose fermenting bacteria
I8



Options :

Nutrient agar
1. %

Blood agar
MacConkey agar
v )

Mannitol salt agar

Question Number : 74 Question Id : 59345211021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In atrophy, the cells are :
Options :

~ Dead cells
1. %

Shrunken cells
[rreversibly injured cells

. Reversibly injured cells

Question Number : 75 Question Id : 59345211022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statement is incorrect about inflammation ?
Options :

. Local response of mammalian living tissue to injury by an agent
1.

) % Defense reaction of body to eliminate injurious agent
3 Does not remove necrosed cell and tissues

. Defense reaction of body to limit spread of injurious agent

Question Number : 76 Question Id : 59345211023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All of the following are the vascular events of acute inflammation except :
Options :

” Elevation of local osmotic pressure
1. -

“ Transient vasoconstriction

3 % Leucocytic margination



L% Progressive vasodilatation

Question Number : 77 Question Id : 59345211024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When there is altered functional demand, the cell may respond to changes and revert
back to normal upon removal of stress, then the cellular response to stress is known as :

Options :
Reversible cell injury
1. %

Cellular adaptations
v
[rreversible cell injury

Cell death
W

Question Number : 78 Question Id : 59345211025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The most common mechanism of hypoxic cell injury is :

Options :



. Reduced Oxygen carrying by RBCs

Heart diseases

2.
” Reduced supply of blood to cells due to interruption
3. ¥
Increased demand of Oxygen by tissues
4.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

ATP generation and glucose availability both are reduced in Hypoxia due to :

Options :

RBC disorders
1. %

Heart diseases

3 ¥ Ischemia

L % Increased demand of Oxygen by tissues
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Question Label : Multiple Choice Question

A gardener cuts his finger while using a rusty knife. Over the following 24 hours, the
finger becomes red, warm and painful. Which cell type is most important in immune
defense during these initial stages of infection ?

Options :

T cell
1. ®

Neutrophil
2.¢

B Cell
#®

Eosinophil
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Charaka, the principle of treatment "Apakarsana" is most appropriately
applicable to which type of Krimis?

Options :

L Malaja, Purishaja, Shlesmaja

Malaja, Purishaja, Shlesmaja, Shonitaja



. Purishaja, Shlesmaja, Shonitaja

Purishaja, Shlesmaja
4, ®
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false regarding the property of viruses ?
Options :
| % They do not multiply by binary fission

v They contain both RNA and DNA
. They do not have a cellular organization

. They are obligate intracellular parasites
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following conditions is not correctly paired with its usual mode of
inheritance ?

Options :

v Wilson's disease - Autosomal dominant
5 Sickle cell anemia - Autosomal recessive
3 Hereditary spherocytosis - Autosomal dominant
4 % Thalassaemia - Autosomal recessive
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All are the methods of identifying bacteria except :

Options :

Gram stain
1. %

Acid fast stain

Silver stain
3'\#; 1 1

Giemsa stain
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The most abundant cation within the intracellular fluid compartment is :

Options :

Sodium
1. =

Chloride
2. %

Potassium
3.9

Calcium
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks G219 .... ...

Options :

v HATgLe=d (Aturascha)
I. % i



AT (Dhatusamyam)

OfcfeH a7 (Pratikarmasamarambhah)

STgETE (Dhatusamyam)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

grHTE72T (bhoomi pariksha) is done to know :

Options :

" -.“:‘r-llqﬂ'ﬂﬂﬂlﬂ%ﬁl (atura parijnana heto)

. 3 'Sl’r‘-l'ﬂ'*'_ﬂl'-i%f_l\l{q (aushadhi parijnana hetostu)

2.3

HATGIIE=T (atura parijnana heto) & HATIeITs==ar=] (aushadhi parijnana
3 hetostu)
L% e EEAEEaE! (baladoshapramana jnana hetorva)

Question Number : 88 Question Id : 59345211035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

EESNOCI ﬁfﬂfql’{{ﬂlﬂﬁf%ﬂ‘rﬁw: is mentioned in context to which Prakriti ?

Options :

L% Vataja Prakriti

Pittaja Prakriti
2. %

Kaphaja Prakriti
3. ¢

Samaprakriti
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

SAI=SI TG H {1 is mentioned in context to which Prakriti ?
Options :

| ® Vataja Prakriti

Pittaja Prakriti
2. ¢

- Kaphaja Prakriti

L% Samaprakriti
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

TEAGEATTINTS TR T is mentioned in context to which Prakriti ?
Options :
| Vataja Prakriti

» w Pittaja Prakriti
3 % Kaphaja Prakriti

4% Samaprakriti
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Question Label : Multiple Choice Question

T B AE-gH-UEO-S-Re-gedrd 99, #E=d Bgieeidd s
mentioned indicates :

Options :
| % Alpabala Vyadhi

) % Madhya Bala Vyadhi



3 Balavan Vyadhi

4 % Samprapti
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Question Label : Multiple Choice Question

JALHTHAIES J O UEVITddl HeIael el Hed g SeTHEra=mes qai=
is mentioned indicates :

Options :
. Vyamishra Satmya

Ruksha Satmya
v )

3 % Sarvarasa Satmya

L% Ghritaksheeratailamamasarasa Satmya
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Question Label : Multiple Choice Question
EEAM AT S A d I ST RIS T O H LT == [ 5T is  mentioned
indicates :




Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Heo:¥ = geeas4=0-7d is mentioned indicates :
Options :

Rakta sara
. Mamsa sara

Majja Sara
3 ]

Asthi Sara
4, %
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Question Label : Multiple Choice Question

EH 1 e | B A ) o e |1 S R 5 | T P B o (G e | =R B
mentioned indicates :

Options :

ATTH T A TH
1.¥
2. %

. A oTe o ATH
3.

T AT
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Question Label : Multiple Choice Question

Tehied o T dcdis sldelsdard=a-4dia is mentioned indicates :

Options :
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Question Label : Multiple Choice Question

TTHEIA  ATTEAAION WA Sedmaisies G99 is mentioned in
which context ?

Options :

. Anumana Pariksha
1.

) Prashna Pariksha

« Darshana Pariksha

Sparshana Pariksha

Question Number : 98 Question Id : 59345211045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The normal PR interval measures the time :

Options :
_ 60-100 ms
1. #

5 % 80-120 ms
3 % 100-250 ms

_7 2
4 120-200 ms

Question Number : 99 Question Id : 59345211046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

An abnormal increase in U-wave amplitude is most commonly due to :
Options :

L% Systemic hypothermia

Hypokalemia
3 % Hyperkalemia

4 % Hypocalcemia
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Question Label : Multiple Choice Question

An enlarged left supraclavicular node (Virchow's node) or periumbilical nodule (Sister
Mary Joseph's nodule) suggests an :

Options :
Cholecystitis

Viral hepatitis
2. %

Alcoholic hepatitis

Abdominal malignancy
4.



